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Vx+4 forx>4

x2—1 forx <4

I f(x) = {
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-3x +2y +4z =10
-y -2z2=8
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Determine the sum of the reciprocal of the roots
for the following polynomial equation:
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Given 4x - 23’ = 8 and kx — 15y = 17

Find the value of k that makes the two equations
perpendicular.
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The roots of a polynomial H(x) are 2, -2, 3, and 4.

The constant term of H(x) is 24. Find the sum of
the coefficients of H(x).
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Evaluate

1 2 3 99
10g10 E + 10g10 § + 10g10 Z + + loglo m
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Find the slant asymptote of
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Find the sum of the solutions to
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5+12i
2-3i°

Simplify

Express answer in a + bi form, where a and b are
real numbers

Answer :

Round 1 2 3 4 5
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For what value(s) of k is x — 1 a factor of
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Find the area of the conic defined by the equation
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The circle x? = 6x — 2y + 10 — y? is inscribed
within a square. What is the area of the square?
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How many ways can six students stand in a
straight line if two students refuse to stand next to
one another?
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Find the eccentricity of the following conic:

=37 G+ _

25 144 1
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